4.1 Day 2 2024.notebook January 05, 2024

Warm up

Find the exact ratio of the trig functions below.
1. sin60° 2. cos45° 3. tan30°

T T .
4. tan— 5. cos— 6. sin—
4 6 6

Find the complement and supplement of the angle

7. 2% 8. 93°
7
. IRV/4
9. Convert the radian angle to a degree angle. o

10. Convert the degree angle to a radian angle. 270°

Dec 20-8:08 AM

Feb 2-9:51 PM
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4.1 Day 2 Radian and Degree Measure

Arc Length
Angular Speed
Linear Speed
Area of a Sector

Jan 10-1:17 PM

deg

Arc length = o2rr
360

Arc Length

ZY . dag r
20 I

B9
TNV N

DAL= Yodians -radiws

Oisthecentral angle

Lind ® in rodions

2'3' = e . (o“

Jan 7-4:10 PM
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AL: fodians - rodins

X AL=154
A AL=5118 pL=13.22

(k03] >l8° |

Jan 10-1:08 PM

Angular Speed - the rate at which an angle grows
- measured in radians/time
(rad/sec, rad/hr, etc)

Linear Speed - the rate at which the arc length grows
- measured in length/time
(ft/sec, m/hr, meters/min, etc)

Jan 9-7:26 AM
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To find angular speed:
AS = revolutions x 2T jrev 2w
in L

min

A circular blade on a saw rotates 2400 revolutions per
minute. Find the angular speed in radians per second.

ZN0WS 2n__ 43007 rody,, = |5 0196 12

min P2 min
\S0179.LY4 Yod | @
o Lo Sec
Y
251.33 Y9
Jan 9-7:33 AM

To find Linear speed:
LS = radius x radians (same as Arc Length!)
LS = radius x AS

The saw blade from the previous problem has a diameter of
8 inches. Find the linear speed of the blade tip in inches per
second.

Pz 25135 9

wd 4mn
L$=25133 az%.a

— InnE3) AN
_|ool=,.3\.ga

How fast is the wheel moving in mph?

Jan 9-7:35 AM
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clock face.

As=

The second hand of a clock is 8 cm long. Find the linear
speed of the tip of the second hand as it passes around the

| rev.  2m
GDSeL Vv

= 2n rod
(40 Sec

230seC | vood

-84 c%u

Jan 2-12:07 PM

A 12-inch diameter wheel is traveling 35 mph. What is the
angular speed of the wheel? What is the rate of revolution in
seconds? . G
. ﬂmE%--gb‘n’ = pS b
r=bm 2 m_h 0o b
= -bin
L3= 359 221600 & = 2=
=7 rod =
AS = LA 3qu’°°q-l'_\? As
W s 04 2 ) Zn- re
- \_hve
5332361 e “3400 SeC
34

EX 6 and EX 7 in book pg 264

Jan 9-7:42 AM
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Area of a Sector

A= %rz 0, Ois measured in radians

A sprinkler on a golf course is set to spray
water over a distance of 75 feet and rotates
though and angle of 135°. Find the area of the
fairway watered by the sprinkler.

(=158 pg=S(es) )15
g =15
= bb26.3 B

Jan 2-12:12 PM

HOMEWORK

p 292 79-115 odd

Aug 29-6:38 AM
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™ 1180

0,360} 0, 21

270
31m/2

Y

g

Jan 7-4:16 PM

/2

A

Jan 7-4:16 PM
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A

3m/2

Jan 7-4:17 PM

/2

A

41t/3

3m/2

511/3

Jan 7-4:18 PM

January 05, 2024



4.1 Day 2 2024.notebook January 05, 2024

/6
0,360) 0,2
(1,0
1111/6
41/3 (0 32 5m/3
\
Jan 7-4:20 PM
A
21.1-/3 /3
3m/4 /4
(-11V/2, 1/1/2) (172, 1/7/2)

51/6 /6

A

(1,0)

7m/6 1111/6

5t/4

(-17/2, -1/1/2) m/4

(12, -1V2)

/3 (0,-1)|3m/2 o3
Y
x =cos ©
y=sin©
y/x = sin ©/cos® = tan ©
Jan 7-4:20 PM
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A
©, )]

211/3 /3

4
(172, 11/2)

3m/4
(-17/2, 11/2)

/6
(+/3/2,1/2)

< ™ W 0,360] 0.2m
(1, 0) A (1,0)
71/6 111/6
(-V/3/2,-1/2) (V3/2,-12)
51/4 7m/4
(-1/V2, -1/7/2) (172, -1/1/2)
4m/3 ©, -1y 31/2 /3
Y
X =cos ©
y=sin©
y/x = sin ©/c0sO = tan ©
Jan 7-4:21 PM
A
/2 i
T
(172, x32'}1)/ (1/2,V/3/2)
3m/4 /4
(12, 11/2) (12, 14/2)
511/6 /6
(32, 1/2) (V3/2,1/2)
-« " 0,360] 0.2m
(-1, 0) (1,0)
711/6 111/6
(-v/3/2,-1/2) (/3/2,-1/2)
S5tt/4 7m/4
(1172, -1/2) H/\z,.l/n)
4m/3 51/3
(172, -/312) (0, -1 3m/2 (172, ~312)
‘r
x =cos O
y=sin®
y/x =sin ©/cos® = tan ©
Jan 7-4:22 PM

10
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Jan 10-1:18 PM

1"



